
            Имя: ______________          

        К ласс :  ____________  
 
 

 

 

Умножение чисел  

Задание. Реши примеры 
 

 

 

9 × 7 = 2 × 2 = 

8 × 4 = 8 × 1 = 

2 × 0 = 6 × 3 = 

3 × 9 = 7 × 7 = 

2 × 5 = 8 × 2 = 

2 × 9 = 3 × 1 = 

1 × 0 = 6 × 3 = 

4 × 5 = 3 × 2 = 

3 × 7 = 5 × 1 = 

1 × 5 = 4 × 4 = 

 

           

                    Примечание: __________________________________________ 
                                    __________________________________________ 
                                    __________________________________________ 
 
              Оценка: ______________________________________________ 
 
 
 
Подготовила:  
педагог специального образования Жанель Жумалинова  

моб. 8-705-951-51-41 


